450
400
350
300
250
200
150
100

50

%

Graph X2 I ndf 1.561e+04/ 27
0.6465 + 6.641e-05

p0o

= f w
a N w n

o
o u1 k.

N
al
I|IIII|IIII|IIII|IIII|IIII|IIII|IIII'LI8_IJIIIII:

. o
= O

100 200 300 400 500 600 700
Graph

T LI I I I L I

% 3

[ J =

%0’ E

(] ® 3

[ J =

® 3

¢ E

. E

° E

() =

° 3

[ =

[ J ]

....... 3

E. ...t b b b e by e by 1
0O 100 200 300 400 500 600 700

Graph X2/ ndf 1.585e+04/ 27
— - 7+ PO 0.6277 + 6.467e-05
450 =
400
350

300
250
200
150
100

50

oy v by by by by by b 1y
QD 100 200 300 400 500 600 700
Graph

w

III:&JIII:

N
ul

N

=
Ul

o

a1 =
IIIIII|IIII|IIII|IIII|IIII|IIII|III

[

o i

O
o1

III|IIII|IIII|IIII|IIIIIIIII|IIII|IIII|IIII|II|'

oo by by by b ey b by 1y
100 200 300 400 500 600 700

1
=

O_II



